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1. Anser any three from the following :

A. Answer the following : 2+6+2+5=15

i. Define Vein.

ii. Draw and Point out the Structure of Human Heart in brief.

iii. Define 1st Heart sound.

iv. Mention the composition of blood in brief.

B. Answer the following : 2+4+2+4+3=15

i. Define Metabolism.

ii Describe the digestion of Protein in brief.

iii. Define Nephron.

iv. Draw and Point out the different parts of Nephron.

v. Mention only the functions of the liver.
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C. Answer the following : 3+4+2+6=15

i. Name the Cranial bones in your body.

ii. Describe the following joints (by mentioning only the Bony
formation and their movements) :

a. Wrist Joint

b. Ankle Joint

iii. Define Muscular fatigue.

iv. Name the following group of muscles :

a. Three Muscles of Facial Expression

b. Muscles of Mastication

c. Muscles of Anterior Abdominal Wall

d. Adductor Muscles of Thigh.

D. Answer the following :- 2+3+4+2+4=15

i. Name the Eight Endocrine Glands in your body.

ii. Mention only the Hormones Secreted by the Pituitary Gland.

iii. Draw and Point out the ‘Male Internal Genital Organs’.

iv. Define Respiration.

v. Describe the Mechanism of Inspiration in brief.

E. Answer the following : 2+3+10=15

i. Define Nervous System.

ii. Name the two division of A.N.S. and Mention only their two
differences.
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~èV Úx!:ˆÏê˛y!§öÛ •Ó˚ˆÏüyö §y•yÎƒ Ü˛ˆÏÓ˚ É

xV ÓyFã˛y ≤Ã§Ó Ü˛Ó˚yˆÏï˛ ó  xyV ÚxüÓ˚yÛ !ö‹Òy§ˆÏö ó

•zV ≤Ã§ˆÏÓÓ˚ ̨ õˆÏÓ˚ Ó˚_´ SP.P.H.V Ó¶˛ Ü˛Ó˚ˆÏï˛ ó  {V í˛z˛õˆÏÓ˚Ó˚ §ÓÜ˛!ê˛

ê˛V x@¿y¢Î˚ !öÉ§,ï˛ Ú•zö§%!°öÛ Ü˛ü «˛Ó˚ˆÏîÓ˚ ú˛ˆÏ° §,‹T ˆÓ˚yà!ê˛ É

xV í˛yÎ˚yˆÏÓ!ê˛§ •zö!§!˛õí˛y§ó  xyV !ê˛ˆÏê˛y!ö ó

•zV àÎ˚ê˛yÓ˚ ó   {V í˛yÎ˚yˆÏÓ!ê˛§ ˆü!°ê˛y§ ó

ë˛V ˛Ÿªy§Ü˛yˆÏÎ≈Ó˚ ≤Ãôyö ˆ˛õ¢#!ê˛ •° É

xV  !ò í˛yÎ˚yú˛y≈ü ó

xyV ~:ê˛yÓ˚ö° ~ÓÇ •zöê˛yÓ˚ö° •zrê˛yÓ˚ˆÏÜ˛yfiê˛y° ó

•zV §ÓÜ˛!ê˛

{V ˆÜ˛yˆÏöy!ê˛•z öÎ˚–
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iii. During Tachycardia the pulse rate becomes :

  a. Below 60 beats/min,        b. 70-80 beats/min,

 c. Above 100 beats/min,       d. 90 beats/min.

iv. Largest Bursa in our body is :

a. Subdeltoid Bursa,         b.  Subacromial Bursa,

c. All of them,                  d.  None of them

v. Total R.B.C. count becomes :

a. 5-6 million/cu.m.m.,                  b. 6-8 thousand/cu.m.m.,

c. 1.5 lacks-4.5 lacks/cu.m.m.,     d. None of them

vi. Longest Muscles in our body is :

  a. Biceps Brachii,             b. Gluteus Maximus,

 c. Sertorius,                     d. Tensor Fascia Lata

vii. Which node is called Pacemaker of heart :

a. A.V. node,         b. S.A. node,

c. Bundle of His,     d. Purkinje’s fibres

viii. Diminished Secretion of G.H. before Puberty is called :

a. Gigantism,  b. Dwarfism,  c. Acromegally,  d. Myxoedema.

ix. Normal Coagulation time is about :

a. 2-4 min.     b. 1-2 min.,       c. 3-10 min.,      d. 10-20 min
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3V !ö¡¨!°!áï˛ ï˛ˆÏsfÓ˚ í˛z˛õÓ˚ ÓƒyÎ˚yˆÏüÓ˚ ≤Ãû˛yÓ í˛zˆÏÕ‘áÓ˚ Ü˛Ó˚–

SˆÎ ˆÜ˛yö ò%!ê˛V

Ü˛V  Ó˚_´ §ÇÓ•ö ï˛sf–

áV  Ÿª£Ïö ï˛sf–

àV  ˆ˛õ¢# ï˛sf–

2V ê˛#Ü˛y ˆ°á ÉÈÙÈ SˆÎ ˆÜ˛yˆÏöy !ï˛ö!ê˛V 3x5=15

1V !mï˛#Î˚ ÓyÎ˚%–

2V  ÓyÎ˚% ôyÓ˚ï˛c–

3V  ÓÎ˚É§!¶˛«˛î–

4V  ≤Ã!ï˛!ï˛ !e´Î˚y–

5V  §ü˜Ïòâ≈ƒ §ÇˆÏÜ˛yã˛ö–

6V  xÓyï˛ ÓƒyÎ˚yü–

3V !ö¡¨!°!áï˛ ≤ÃŸ¿=!°Ó˚ §!ë˛Ü˛ í˛z_Ó˚ ˆ°á– SˆÎ ˆÜ˛yö ò¢!ê˛V

Ü˛V  ~Ü˛çö ≤ÃyÆÓÎ˚ˆÏflÒÓ˚ fl∫yû˛y!ÓÜ˛ «˛!ï˛ ˛õ!Ó˚üyö •° É

xV 5040 !ü!° ó  xyV 70 !ü!° ó  •zV 200 !ü!° ó  {V 3.3

!°ê˛yÓ˚–

áV  Ó˚_´ ˆòˆÏ•Ó˚ üˆÏôƒ ï˛Ó˚° ÌyˆÏÜ˛ Ü˛yÓ˚î É

xV ˆ•˛õy!Ó˚ö ó  xyV Ó˚_´öy°#Ó˚ !û˛ï˛ˆÏÓ˚Ó˚ ˛õÎ≈yÎ˚ ü§,î ó

•zV Ó˚_´ §Ó§üÎ˚ ã˛°yã˛° Ü˛ˆÏÓ˚ ó  {V í˛z˛õˆÏÓ˚Ó˚ §ÓÜ˛!ê˛–

àV  Úê˛Δy!Ü˛ ˛õy!í˛¸Î˚yÓ˚Û §üÎ˚ üyö%ˆÏ£ÏÓ˚ •*ÍÜ˛¡õö •Î˚ É

xV 60 !ê˛ flõ®ˆÏöÓ˚ ö#ˆÏã˛ ≤Ã!ï˛ !ü!öê˛ ó  xyV 70ÈÙÈ80 flõ®ö



àV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 3+4+2+6=15

1V ˆï˛yüyÓ˚ ˆòˆÏ•Ó˚ ÚÜ˛ˆÏÓ˚y!ê˛Ó˚ x!fliÛ=!°Ó˚ öyü í˛zˆÏÕ‘á Ü˛Ó˚–

2V !ö¡¨!°!áï˛ x!fli §¡∫ˆÏ¶˛ ˆ°á Sx!fli àë˛ö Ä ã˛°ö í˛zˆÏÕ‘á Ü˛Ó˚V–

xV Ü˛!∂ §!¶˛  xyV ˆàyí˛¸y!° §!¶˛

3V Úˆ˛õ¢#Ó˚ xÓ§yòÛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

4V !ö¡¨!°!áï˛ ˆ˛õ¢#=FåÈ §ü)ˆÏ•Ó˚ öyü=!° í˛zˆÏÕ‘á Ü˛Ó˚–

xV  !ï˛ö!ê˛ Úü%áû˛!DüyÓ˚Û ˆ˛õ¢#–

xyV  Úã˛Ó≈ˆÏöÓ˚Û ˆ˛õ¢# §ü)•–

•zV  Úˆ˛õˆÏê˛Ó˚ §yüˆÏöÓ˚ ˆ˛õ¢# §ü)•–

{V  Úí˛zÓ˚&Ó˚ xƒyí˛yÜ‰˛ê˛Ó˚Û ˆ˛õ¢# §ü)•–

âV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 2+3+4+2+4=15

1V ˆï˛yüyÓ˚ ˆòˆÏ•Ó˚ xyê˛!ê˛ ÚxhsˇÉ«˛Ó˚î @ˇÃ!siÛÓ˚ öyü í˛zˆÏÕ‘á Ü˛Ó˚–

2V Ú!˛õê%˛•zê˛y!Ó˚ @ˇÃ!siÛÓ˚ •Ó˚ˆÏüyö=!°Ó˚ öyü í˛zˆÏÕ‘á Ü˛Ó˚–

3V åÈ!Ó§• Ú˛õ%Ó˚&£Ï̂ ÏDÓ˚ !û˛ï˛ Ï̂Ó˚Ó˚ çööï˛ Ï̂sfÓ˚Û !Ó!û˛ß¨ xÇ¢ !ã˛!•´ï˛ Ü˛Ó˚–

4V ÚŸª£ÏöÛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

5V §ÇˆÏ«˛ˆÏ˛õ Ú≤ÃŸªy§Û ≤Ã!e´Î˚y Óî≈öy Ü˛Ó˚–

äV 1V Úöyû≈˛ï˛sfÛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄ 2+3+10=15

2V Úfl∫Î˚Ç!e´Î˚ öyû˛Û ï˛ Ï̂sfÓ˚ ò%!ê˛ û˛yà í ẑ̨ ÏÕ‘á Ü˛Ó˚ ~ÓÇ ~ Ï̂òÓ˚ ò%!ê˛ ̨õyÌ≈Ü˛ƒ

í˛zˆÏÕ‘á Ü˛Ó˚–
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x. Oxitocin Hormone helps in :

a. Expulsion of Foetus,      b. Expulsion of Placenta,

 c. Stoppage of P.P.H,        d. All of them.

xi. Diminished secretion of Insulin from the Pancreas produces a
clinical condition :

a. Diabetes Insipidus,         b. Tetany,

c. Goitre,                              d. Diabetes Mellitus.

xii. Name the Prinicipal muscles of Respiration :

a. The Diaphragm,      b. External and internal Intercostal,

 c. All of them,             d. none of them.
ÓDyö%Óyò

1V !ö¡¨!°!áï˛=!°Ó˚ ˆÎ ˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É

Ü˛V !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ É 2+6+2+5=15

1V !¢Ó˚y Ü˛yˆÏÜ˛ ÓˆÏ°⁄

2V åÈ!Ó§• üyöÓˆÏòˆÏ•Ó˚ •*ò!˛õˆÏu˛Ó˚ xÇ¢=!° í˛zˆÏÕ‘á Ü˛Ó˚–

3V Ú≤ÃÌü •*òôù!öÛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

4V Ó˚ˆÏ_´Ó˚ xÇ¢=!°Ó˚ SCompositionV §ÇˆÏ«˛ˆÏ˛õ í˛zˆÏÕ‘á Ü˛Ó˚–

áV !ö¡¨!°!áï˛ ≤ÃˆÏŸ¿Ó˚ í˛z_Ó˚ òyÄ ÉÈÙÈ 2+4+2+4+3=15

1V Ú!Ó˛õyÜ˛Û Ü˛yˆÏÜ˛ ÓˆÏ°⁄

2V Úˆ≤Ãy!ê˛ˆÏöÓ˚Û ˛õ!Ó˚˛õyÜ˛ !e´Î˚y §ÇˆÏ«˛ˆÏ˛õ Óî≈öy Ü˛Ó˚–

3V Úˆöú ˛öÛ Ü˛yˆÏÜ˛ ÓˆÏ°⁄

4V åÈ!Ó§• ˆöú ˛ˆÏöÓ˚ !Ó!û˛ß¨ xÇ¢ í˛zˆÏÕ‘á Ü˛Ó˚–

5V ÷ô%üye ÚÎÜ,˛ˆÏï˛Ó˚Û Ü˛yÎ≈=!° í˛zˆÏÕ‘á Ü˛Ó˚–



≤Ã!ï˛!ü!öê˛ ó  •zV 100!ê˛ flõˆÏ®Ó˚ í˛z˛õˆÏÓ˚ ≤Ã!ï˛ !ü!öê˛ ó  {V 90 flõ®ö

≤Ã!ï˛ !ü!öê˛–

âV xyüyˆÏòÓ˚ ˆòˆÏ•Ó˚ §ÓˆÏã˛ˆÏÎ˚ Óí˛¸ ÚÓy§≈yÛ SBursaV ÉÈÙÈ

xV §yÓ ˆû˛°ê˛ˆÏÎ˚í˛ Óy§≈y ó  xyV §yÓ xƒyˆÏe´y!üÎ˚y° Óy§≈y ó

•zV í˛z˛õˆÏÓ˚Ó˚ §ÓÜ˛!ê˛ ó  {V ˆÜ˛yˆÏöy!ê˛•z öÎ˚–

äV ˆ°y!•ï˛ Ó˚_´Ü˛!îÜ˛yÓ˚ ˆüyê˛ §Çáƒy ÉÈÙÈ

xV 5ÈÙÈ6 !ü!°Î˚yü † Óà≈ !ü!ü–

xyV  6ÈÙÈ8 •yçyÓ˚ † Óà≈ !ü!ü–

•zV  1.5 °«˛ ÈÙÈ 4.5 °«˛ † Óà≈ !ü!ü–

{V  ˆÜ˛yˆÏöy!ê˛•z öÎ˚–

ã˛V xyüyˆÏòÓ˚ ˆòˆÏ•Ó˚ §ÓˆÏã˛ˆÏÎ˚ °¡∫y ˆ˛õ¢#!ê˛ •° ÉÈÙÈ

xV Óy•zˆÏ§˛õ§‰ Ó y!ã˛ ó  xyV @’%!ê˛Î˚y§ üƒy!:°y§ ó

•zV §y•zˆÏê˛y!Ó˚Î˚y§ ó  {V ˆê˛ö¢Ó˚ ˆú˛!§Î˚y°ƒyê˛y–

åÈV ˆÜ˛yö ˆöyí˛ˆÏÜ˛ ÚˆÏ≤Ã§ˆÏüÜ˛yÓ˚ xÓ •yê˛Û Ó°y •Î˚ É

xV   ~. !û˛ ˆöyí˛ ó  xyV ~§. ~ ˆöyí˛ ó  •zV ÓyˆÏu˛° xÓ !•ç ó

{V ˛õyÓ˚!Ü˛ö!ç ˛ú˛y•zÓyÓ˚§‰–

çV ÓÎ˚É§!¶˛«˛î ~Ó˚ ˛õ)ˆÏÓ≈ ˆ@ˇÃyÌ •Ó˚ˆÏüyö SG.A.V «˛Ó˚î Ü˛ü •ˆÏ° É

xV çy•zàƒyö!ê˛çü‰ ó  xyV Óyüöc ó  •zV ˜òï˛ƒyÜ,˛!ï˛ ó

{V !ü!:!í˛üy–

é˛V Ó˚_´ ï˛M˛ÈˆÏöÓ˚ §üÎ˚ É

xV 2ÈÙÈ4 !ü!öê˛ ó  xyV 1ÈÙÈ2 !ü!öê˛ ó  •zV 3ÈÙÈ10 !ü!öê˛ ó  •zV

10ÈÙÈ20 !ü!öê˛
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iii. Describe the effects of exercise or training on following systems
(Any two) :

a. Cardiovascular System

b. Respiratory System

c. Muscular System

2. Write short notes on (any three) :- 3x5=15

i. Second Wind

ii. Vital Capacity

iii. Puberty

iv. Reflex Action

v. Isometric Contraction

vi. Anaerobic Exercise

3. Mention the correct answer from the following (MCQ)
(any ten) : 1x10=10

i. Normal Stroke Volume in an Adult is about :

a. 5040 ml,    b. 70 ml,      c. 200 ml,       d. 3.3 Ltrs.

ii. Blood remains fluid in the body is due to :

 a. Heparin,              b. Intact Intravascular Endothelium,

  c. Constant flow of blood,         d. All of them


